
Time: 40 Minutes Paper Science 8 Total Marks: 25

Month, 2nd Week, 6th Day Syllabus: Revision test Syllabus (2nd week)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. How many periods are there in the periodic table? ÷÷÷÷???? cccccccc****eeeeuuuu××××~~~~ÄÄÄÄcccciiii++++iiiiƒƒƒƒDDDD

(a) Five 0*õ (b) Six i (c) Seven ‚] (d) Eight WJ

ii. The sign (g) represents: óóóóªªªªCCCCÙÙÙÙ™™™™CCCCìììì:::: g ´́́́####ÖÖÖÖLLLL

(a) Liquid âù (b) Gas ’ (c) Solid k̂ (d) Plasma öix

iii. The change of water into steam is a: 0000****ãããã»»»»¸̧̧̧\\\\~~~~ppppssssƒƒƒƒ********ìììì::::

(a) Physical change 8p~ (b) Chemical change 6ðp~

(c) Irreversible change q-§†p~ (d) None of these Zy~ÐÃð7

iv.Those substances which are formed as a result of the reaction are called:

ZZZZ++++qqqq,,,,����gggg~~~~ZZZZ½½½½ÆÆÆÆËËËËÆÆÆÆîîîîgggg6666,,,,FFFFBBBBCCCC÷÷÷÷::::

(a) Reactants mÓ9ß9‹ g~Z (b) Products mÓ9‹ 6,ze

(c) Compounds áî&+i (d) Molecules âÅ5½3ð GG²

v. Which of the following is a balanced chemical equation?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏ6666ðððð))))zzzzZZZZ]]]]ááááZZZZiiiiyyyyìììì????

(a) H2 + O2 H2O (b) NaOH + HCl NaCl + H2O

(c) N2 + H2 NH3 (d) Mg + O2 MgO

vi. Ne belongs to: ããããZZZZzzzzyyyymmmmggggBBBBbbbbìììì::::

(a) Nitrogen family Ä **>zX (b) Fluorine Family Ä jg+

(c) Noble gases â.Þv (d) Alkaline Earth metals ZæíZgB$45Îæ GHE

vii. Which of the following is not a chemical change? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏ6666ððððpppp~~~~7777ìììì????

(a) Respiration g$n.ç GFc (b) Photosynthesis © ‰nßjão ¯I

(c) Burning S (d) Eveporation Z-<gc

viii.  Which of the following is a chemical formula of zine sulphate?

ZZZZyyyy~~~~ÐÐÐÐiiii7777----ÜÜÜÜ»»»»6666ððððÃÃÃÃggggññññÑÑÑÑÃÃÃÃyyyy‚‚‚‚ìììì????
(a) ZnSO3 (b) ZnSO4 (c) Zn2SO4 (d) Zn3SO4

ix. Which of the following is a commonly used method to balance chemical

equation? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚§§§§iiii¬¬¬¬xxxxîîîîgggg6666,,,,6666ðððð))))zzzzZZZZ]]]]ÃÃÃÃááááZZZZiiiiyyyy™™™™ääää~~~~ZZZZEEEEwwwwƒƒƒƒ@@@@****ìììì????
(a) Oxidation method W±k5åGHc¿ (b) Trail and error method R,ZbZhZk,g¿

(c) Ion electron method WíZ¼zy¿ (d) None of these Zy~ÐÃð7X
x. The colour of carbon dioxide (CO2) is : »»»»gggg0000eeeeZZZZððððWWWW‚‚‚‚àààà»»»»gggg8888----ƒƒƒƒ@@@@****ìììì::::
(a) Red aç Nc (b) Blue 8 (c) Yellow ¨ (d) Colourless "g8-

Q.No.2. Write short answers.       (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) Refine fermentation. �Û
!5454jè G
EHGIEÅ°p™,X

(ii) What do you mean by atomic number? ZN*î�ÐH%ZŠì?

(iii) Define Element. Z&Í-.3ï GGEHÅ°p™,X

(iv) What are reactants? Give example. g~Z&»454ø GHEHH÷?VwŠ,X

(v) Define chemical change. 6ðp~Å°p™,X

(vi) What is chemical equation? 6ð)zZ]Hì?

Q.No.3. Write long answer.       (3) ----����ZZZZ[[[[KKKKXXXX

(i) Explain applications of chemical reactions. 6ðg~Z¶ÅZ³ÅÅzŸs#™,X
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